




























2013 2U Trial HSC Solutions 

1) B 

2) D 

3) D 

4) C 

5) A 

6) B 

7) A 

8) D 

9) A 

10) C 

 

Question 11 

a) 3.510263… (using calculator 

= 3.51 (2 decimal places) 

 

b)  

3ܽଶ ൅ ܽ െ 2 ൌ 	
ሺ3ܽ െ 2ሻሺ3ܽ ൅ 3ሻ

3
 

    = (3a – 2)(a + 1) 

 

c)   5x – 3(x – 4) = 2 

      5x – 3x + 4 = 2 

                     2x = ‐10 

                       x = ‐5 

 

d)i) 

݀
ݔ݀

ଶݔ4ൣ ൅	ିݔଶ ൅ 3 െ	√ݔ൧ ൌ ݔ8 െ	
2
ଷݔ

െ
1
2
ିݔ

ଵ
ଶ 

ൌ ݔ8 െ	
2
ଷݔ

െ	
1

ݔ√2
 

ii) y = xtan(2x) 

y’ = tan(2x) (1) + x × 2sec2(2x) 

    = tan(2x) + 2xsec2(2x) 

 

iii)  

ݕ ൌ 	
݁ଶ௫

ݔ ൅ 1
 

ᇱݕ ൌ 	
ሺݔ ൅ 1ሻ. 2݁ଶ௫ െ	݁ଶ௫ 	ൈ 1

ሺݔ ൅ 1ሻଶ
 

ൌ
.ݔ2	 ݁ଶ௫ ൅ 2݁ଶ௫ െ	݁ଶ௫

ሺݔ ൅ 1ሻଶ
 

ൌ	
݁ଶ௫ሺ2ݔ ൅ 1ሻ
ሺݔ ൅ 1ሻଶ

 

 

e) y = (2x – 1)4 

y’ = 4(2x – 1)3 × 2 

     = 8(2x – 1)3 

     = 8  at x = 1 

Equation has form y – y1 = m(x – x1) 

Line passes through (1, 1) 

y – 1 = 8(x – 1) 

y – 1 = 8x – 8  

       8x – y – 7 = 0   

 

Question 12 

a) 

∠AFE = ∠FBC (vert opp.) 

∠ADC = ∠EAF (corr. angles, AB║DC) 

So ∠AEF = ∠BCF (remaining angles in triangles AEF

       and BCF) 

Also, AE = AD (given) 

Hence ΔAEF ≡ ΔBCF (AAS) 

Hence AF = FB (corr. sides in congruent triangles) 

 

 

 



b) i) 

 

 

ii) 

x2 = 16(y + 1) 

x2 = 16(0 + 1)  

x2 = 16 

 x = ‐4, 4 

P cuts the x axis at (‐4, 0) and (4, 0) 

 

iii)  

ݕ ൌ 	
ଶݔ

16
െ 1 

Area ൌ 	 ቮ න
ଶݔ

16
െ 1	dݔ

ସ

ିସ

	ቮ ൌ 	 ቈ
ଷݔ

48
	െ ቉	ݔ

4

െ4
 

ൌ ฬ
64
48

െ 4 െ ሺ൬
െ64
48

൰ െ ሺെ4ሻሻ	ฬ 

ൌ	 ฬെ
16
3
ฬ																																								 

ൌ	
16
3
	unitsଶ																																	 

 

 

 

c) i) L passes through (0, 4) and (3, 0) 

݉ ൌ	
0 െ 4
3 െ 0

ൌ 	െ
4
3
 

 

ݕ െ 4 ൌ 	െ
4
3
ሺݔ െ 0ሻ 

    3y – 12 = ‐4x 

         4x + 3y – 12 = 0 is the equation of L 

 

ii) If B is midpoint then: 

0 ൌ 	
஽ݔ ൅ 3
2

						and				4 ൌ 	
஽ݕ ൅ 0
2

 

     xD = ‐3     yD = 8 

So D has co‐ordinates (‐3, 8) 

 

iii)  

݉஺஼ ൌ 	
0 െ 9
3 െ 0

										݉஼஽ ൌ
9 െ 8

0 െ ሺെ3ሻ
 

                         = ‐3        =  
ଵ

ଷ
 

  Now  ‐3 × 
ଵ

ଷ
 = ‐1 

  So AC and CD are perpendicular 

  Therefore, ∠ACD	is	a	right	angle 

iv) 

Distance஼஽ ൌ 	ඥሺെ3 െ 0ሻଶ ൅	ሺ8 െ 9ሻଶ 

ൌ	√10												 

Distance஺஼ ൌ 	ඥሺ3 െ 0ሻଶ ൅	ሺ0 െ 9ሻଶ 

ൌ	√90												 

 

Area of ΔACD = 
ଵ

ଶ
ൈ √90	ൈ √10 

             = 15 units2 

 



Question 13 

a) i) 

f(x) = 7 + 4x3 – 3x4 

f ’(x) = 12x2 – 12x3 

          = 12x2(1 – x) 

For stat. points, f ‘(x) = 0 

0 = 12x2(1 – x) 

x = 0, 1  

So stationary points at (0, 7) and (1, 8) 

Consider point at (0, 7) 

f ’’(x) = 24x – 36x2 

f ’’(0) = 0  Possible point of inflexion 

f ’’(x) < 0 for x <0 and f ’’(x) > 0 for x > 0 

Therefore, horizontal point of inflexion at (0, 7) 

 

Consider stationary point at (1,8) 

f ’’(1) = ‐12  Concave down 

Therefore maximum turning point at (1, 8) 

            

ii) 

f ‘’ (x) = 24x – 36x2 

Possible points of inflexion when f ‘’ (x) = 0 

0 = 12x(2 – 3x) 

x = 0, 
ଶ

ଷ
  

So possible points of inflexion at (0, 7) and ቀ
ଶ

ଷ
	 ,
ଶ଴ହ

ଶ଻
ቁ  

Consider ቀ
ଶ

ଷ
	 ,
ଶ଴ହ

ଶ଻
ቁ 

  When x < 
ଶ

ଷ
 , f ‘’(x) > 0 

  When x > 
ଶ

ଷ
 , f ‘’(x) < 0 

So point of inflexion at ቀ
ଶ

ଷ
	 ,
ଶ଴ହ

ଶ଻
ቁ  

iii) 

 

 

b) v = 7 – 6t – t2 

i) v’ = a = ‐6 – 2t 

             = ‐6 – 2(2)  at t = 2 

             = ‐10 ms‐2 

  

ii)  

Particle is at rest when v = 0 

7 – 6t – t2 = 0 

‐(t2 + 6t – 7) = 0 

‐(t – 1)(t + 7) = 0 

  t = ‐7, 1 but t ≥ 0 

So particle is at rest after 1 second 

 

൬
2
3
	,
205
27

൰



iii) 

Distance travelled = 

න7 െ ݐ6 െ	ݐଶ	݀ݐ		 ൅ 		 ቮන 7 െ ݐ6 െ	ݐଶ	݀ݐ

ସ

ଵ

ቮ	

ଵ

଴

 

																	ൌ 	 ቈ7ݐ െ ଶݐ3 െ
ଷݐ

3
቉
1

0
	൅		 ቈ7ݐ െ ଶݐ3 െ

ଷݐ

3
቉
4

1
 

ൌ ൤
11
3
െ 0൨ ൅	 ฬെ

124
3

െ
11
3
ฬ												 

     = 48
ଶ

ଷ
  units 

 

Alternatively, 

x = 7t – 3t2 ‐ 
௧య

ଷ
 + C 

Since particle is initially at the origin 

0 = 7(0) – 3(0)2 ‐ 
ሺ଴ሻయ

ଷ
 + C    

  C = 0 

x = 7t – 3t2 ‐ 
௧య

ଷ
 

Now, particle comes to rest at t = 1 

x = 7(1) – 3(1)2 ‐ 
ሺଵሻయ

ଷ
  = 

ଵଵ

ଷ
 

At t = 4, particle is at  

x = 7(4) – 3(4)2 ‐ 
ሺସሻయ

ଷ
  = െ

ଵଶସ

ଷ
 

Total distance = 
ଵଵ

ଷ
 + ቀ

ଵଵ

ଷ
൅	

ଵଶସ

ଷ
ቁ = 48

ଶ

ଷ
  units 

 

c)  

Volume ൌ න	ߨ	
1
ݔ
	

௘

ଵ

 	ݔ݀	

ൌ ሿݔሾ݈݊	ߨ	
݁

1
 

              = π [lne – ln1] 

             =  π  units3 

d)  

√3	tanݔ ൌ 1 

tanݔ ൌ 	
1

√3
 

  tan > 0 in the 1st and 3rd quadrants  

                    x = 30° , 210° 

 

Question 14 

a) 

i) A = ½ × r2 × θ 

16 = ½ × r2 × θ 

32 = r2 × θ 

  θ = 
ଷଶ

௥మ
 

 

ii) Arc length = r × θ 

           = r × 
ଷଶ

௥మ
   

          = 
ଷଶ

௥
 

Perimeter = r + r + 
ଷଶ

௥
  

                   = 2r + 
ଷଶ

௥
 

 

 

 

 

 

 

 

 

 

 

 



iii) P = 2r + 32r ‐1 

     P ‘ = 2 – 32r ‐2 

          = 2 ‐ 
ଷଶ

௥మ
 

For turning point, P’ = 0 

0 = 2 ‐ 
ଷଶ

௥మ
 

0 = 2r2 – 32  

32 = 2 r2 

16 = r2 

  r = 4  (since r > 0) 

 

Now, P’’ = 
ଷଶ

௥య
  

> 0  at r = 4 

So minimum value occurs at r = 4 

Now,  

θ = 
ଷଶ

௥మ
 

   =  
ଷଶ

ሺସሻమ
 at r = 4 

   = 2 radians 

So an angle of 2 radians gives minimum perimeter 

 

b) i) 

N(t) = 4000e‐.04t 

N(0)  = 4000 × e0 

         = 4000 

So initially there are 4000 bacteria 

 

ii) N(5) = 4000 × e‐0.4(5) 

             = 541.3 (1 decimal place) 

So after 5 minutes there are 541.3 bacteria 

 

iii) 50% of initial bacteria is 2000 

2000 = 4000 × e‐0.4t 

     ½ = e‐0.4t 

 ln ½ = ‐ 0.4t 

       t = 
୪୬
భ
మ

ି଴.ସ
  

         = 1.7 mins 

 

iv)  

݀ܰ
ݐ݀

ൌ ݇ܰ																																														 

ൌ	െ0.4	 ൈ 4000 ൈ ݁ି଴.ସ௧					 

ൌ	െ0.4	 ൈ 4000 ൈ ݁ି଴.ସሺଵ.଻ሻ 

           = ‐810.6 (1 decimal place) 

So after 1.7 mins, when 50% of the bacteria have been 

killed, the population is decreasing at a rate of 810.6 

bacteria per minute. 

 

c)  

i) 

 

 

 



ii) Points of intersection at (‐3, 0) and (3, 0) 

 

iii)  

Area ൌ 		 නሾሺ9 െ ଶሻݔ െ ሺݔଶ െ 9	ሻሿ݀ݔ

ଷ

ିଷ

 

ൌ	 න18 െ 															ݔଶ݀ݔ2

ଷ

ିଷ

 

ൌ ቈ18ݔ െ	
ଷݔ2

3
቉
3

െ3
													 

ൌ ൤54 െ
54
3
൨ െ ൤െ54 ൅

54
3
൨ 

             = 72 units 2 

 

Question 15 

a)  

ln10 = x   ln7 = y 

ln0.07 ൌ ln ൬
7
100

൰																						 

ൌ ln7 െ ln 100 

           = ln7 – ln(10)2 

           = ln7 – 2ln10 

                       = y – 2x  

 

b) i) 

න݁ଶ௫	݀ݔ

ଵ

଴

ൌ ൤
1
2
݁ଶ௫൨

1

0
 

ൌ
1
2
݁ଶ െ

1
2
݁଴ 

ൌ
1
2
ሾ݁ଶ െ 1ሿ			 

 

 

 

ii) 

න
ݔ

ଶݔ ൅ 1
ݔ݀	 ൌ

1
2
ൈ	න

ݔ2
ଶݔ ൅ 1

ݔ݀		

ଶ௘

ଵ

ଶ௘

ଵ

																														 

ൌ
1
2
ൈ ሾlnሺݔଶ ൅ 1ሻሿ

2݁

1
 

ൌ
1
2
ሾlnሺ4݁ଶ ൅ 1ሻ െ ln2ሿ 

 

c)  

Arithmetic series with a = ln2 and d = ln2 

Sum ൌ
݊
2
ሾܽ ൅ Lሿ																																										 

																								ൌ 		
ଶଵ

ଶ
ሺln2 ൅ 21ln2ሻ	  

ൌ	
21
2
ሺ22ln2ሻ																							 

            = 231ln2 

            = 160.12 (2 decimal places) 

 

d)  

න cos2ݔ	ݔ݀ ൌ ൤
1
2
sin2ݔ൨

ߨ
4

ߨ
6

గ
ସ

గ
଺

																																				 

ൌ
1
2
sin ቀ

ߨ
2
ቁ െ

1
2
sin ቀ

ߨ
3
ቁ 

ൌ
1
2
ൈ 1 െ

1
2
ൈ
√3
2
 

ൌ
1
2
െ
√3
4
											 

ൌ	
2 െ	√3

4
 

 

 

 

 



e) i) 

ݕ ൌ 	 ݔ√
య

 

ଶݕ ൌ  ଷݔ

ݕ
ଶ
ଷ	 ൌ  ݔ

ሺݕ
ଶ
ଷሻଶ ൌ  			ଶݔ

ଶݔ ൌ ݕ	
ସ
ଷ 

ii) 

Volume ൌ 	π ൈ නݕ
ସ
ଷ		݀ݕ

ଵ

଴

 

ൌ ߨ	 ൤
3
7
ݕ
଻
ଷ൨
1

0
 

ൌ ߨ	 ൤
3
7
െ 0൨ 

             =   
ଷ

଻
 units3    ߨ

 

f)  

√80 ൅	√5 ൌ 	ඥݕ  

LHS ൌ 4√5 ൅	√5 

ൌ 5√5			 

ൌ	√125 

So y = 125 

 

 

 

 

 

 

 

 

 

Question 16 

a) 

AB2 = a2 + h2  (Pythagoras in ∆ABD) 

AC2 = h2 + b2  (Pythagoras in ∆ADC) 

 

Now, 

                AB2 + AC2 = (a + b)2  (Pythagoras in ∆ABC) 

(a2 + h2) + (h2 + b2) = (a + b)2 

            2h2 + a2 + b2 = a2 + 2ab + b2 

               2h2 = 2ab 

                h = √ab   (h > 0) 

 

b)  

 

 

Graph could also be shifted up or down  

 

 

 

 



c)  

h = 1 

y1 = f(1) =
ଵ

ଶ
  y2 = f(2) = 

ଵ

ହ
  y3 = f(3) = 

ଵ

ଵ଴
       

y4 = f(4) = 
ଵ

ଵ଻
  y5 = f(5) = 

ଵ

ଶ଺
 

 

Area ൌ 	
1
2
൤
1
2
൅
1
26

൅ 2 ൈ ൬
1
5
൅
1
10

൅
1
17
൰൨ 

				ൌ
1
2
൤
7
13

൅
61
85
൨																																				 

         =
଺ଽ

ଵଵ଴ହ
  = 0.628 (3 decimal places) 

 

d) i) 

 

Amplitude = 2    Period = 4π 

ii)  One solution, seen by drawing y = x on the 

graph 

 

e)  

݂ᇱሺݔሻ ൌ 	
1
ଶߨ

ݔ8 ൅  																				ݔ2ݏ݋ܿ

݂ሺݔሻ ൌ 	
1
ଶߨ

ൈ ଶݔ4 ൅
1
2
ݔ2݊݅ݏ ൅ C 

ൌ	
ଶݔ4

ଶߨ
൅	
ݔ2݊݅ݏ
2

൅ C		 

 

Now f(
గ

ସ
ሻ ൌ

ଷ

ସ
 

3
4
ൌ
4ሺ
ߨ
4ሻ

ଶ

ଶߨ
൅	
sin	ሺ2 ൈ

ߨ
4ሻ

2
൅ C			 

3
4
ൌ 	

ଶߨ4

ଶߨ16
൅
1
2
൅ C														 

3
4
ൌ
1
4
൅
1
2
൅ C																				 

              C = 0 

So, 

݂ሺݔሻ ൌ 	
ଶݔ4

ଶߨ
൅	
ݔ2݊݅ݏ
2

 

 

f) 

݀
ݔ݀

ቈln
ଶݔ െ 4
ݔ ൅ 1

቉ ൌ 	

ଶݔ ൅ ݔ2 ൅ 4
ሺݔ ൅ 1ሻଶ

ଶݔ െ 4
ݔ ൅ 1

 

ൌ	
ଶݔ ൅ ݔ2 ൅ 4
ሺݔ ൅ 1ሻଶ

	ൈ
ݔ ൅ 1
ଶݔ െ 4

 

 

ൌ	
ଶݔ ൅ ݔ2 ൅ 4

ሺݔ ൅ 1ሻሺݔ െ 2ሻሺݔ ൅ 2ሻ
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